
����� ��!��"�#��$"���$�%$��"�&'�$�#(���$�%$��)�#�*���+��#*��#$*��#$"��(�*��#����,��-�����XQh�

�

�����Z ��+�)	���)�	��*��
�)�	�#V���
��
�*��
�)�7�����)%��������������	��
�
��������,�(�:!(�'�<����=�

��*��
�7��!������

�
�
�
�
�

�--�$��� �-� �0����0540��� �1��� %�1�5010��� e<!=
�����"1=g� ���
/��0�� ��W"4���� ���0�;0����� %������ ���� 	����0�5� ���-��4!
��$���-��5��������

�.).�%0���0�
�
��%�.���90�0�

�
���.�
�����0

�
��).�.�	0�9��

�
�����*.�)���5���50��

��


�����4����� �-�
�
�;���04����1� ����4�$�1�5"� ����

�
�;���04����1� ��"�0�1�5"�� 
��0$�1�

%$���1�����������0����0�"����������#���$��

)���W
���,��0����0540����%�1�5010����1����0�5���5�������2��0���<��f�7f=!���������$��"1$��10!
���������������1����0�;0������������
�

�����
�)�����

������� �04� �-� ��0�� ����"� 6��� ��� 0�����05���� ���� �-!
-�$��� �-� �0����0540���� �� 9��6�� $��10���������� 0�!
�020�����0��$�420���0���60���%�1�5010���<������"1=�����
0�������021�� 0��020���� �-�
��!/�� ��� �=� 2��0�� �)����
<��

f
��7

f
� !
5

ff
=!��������$�0�0�0��o�2=� ����1� ���0�;0!

������������ <��%=o�$=� 1����0�5����-��4��$������� ���
���1����� ����021�� $����1��0��� 2��6���� 20�$��40$�1�
���� 2����0���1� -0��0�5�� �-���� ��2$����0$� ���5� ��!
40�0�����0���0���5���4�1������.�

�

������	���
�
��*�
%�

����0����0540��� <�=� 6��� ��40�0������� <�.(� 45_95�
���_��"�0.�.=��%�1�5010���<%=�<��.�&�45_95����_��"�0.4.=�
���� �0����0540��� f� %�1�5010��� <�f%=� <�.(45_95�
���_��"� 0.�.� f� �.�&45_95� ���_��"� 0.4.=.� ���� ���5��
6������40�0�������-���(��$����$��0�����"�.�
���	����0�5�����4������6���� ������� �����5���� ���!
�0��� ���0���$�� ���$������ ��90�5� �1�$�� 0�� ����5�!
/��01������4����������1��2�;����0$����������2 �̀$��
��$�5�0�0�������.�
�����W"4���$�0�0�0���������%�6�������1���������$!
��������4���0$�11"� 0��2��0����4�5��������-���$��0!
��������04�1�.�

�
��%�	�%�

�����%�6����05�0-0$���1"� 1�6���0���5���$�4���������
���1������.������%�$���5��6����2��������-���������
�f%� ��40�0�����0��.� %�1�5010��� ��������� �5��� �����
��%���1���������������1��j����.�
����0����0540��� �1���� ��� 60���%� ����$����)����$!
�0�0�"�<!��c=��6�01��%�0�$��������)����$�0�0�".�
���<��f�7f=!��������$�0�0�"�6���0�$�������0��5������
�-� ��� �f%� ���� %�� 0�� $�4���0���� ��� ���� $�����1�
5�������6�01��
5

ff
��������$�0�0�"�6���0�$�������0��

�������f%�5�����.�
�����������2 �̀$����$�5�0�0�������������4�����04������
$�5�0�0������-��4��$���6�01��0������$�420���0�������
04�����4���� 6��� ���� �05�0-0$���.� ��� ���� ����0���

���0���$�� ����� ��� �05�0-0$���� 04�����4���� 0�� ���!
-��4��$��6����2������.�
������ 0��$��$1���������,��0����0540����1�������������
�--�$����%����$��������)����$�0�0�"�����0�$�������
<��

f
�� 7

f
=!������� ����
5

ff
!������� �$�0�0�"� �-� ����

2��0�.� ���� ���5� �1��� 04������� $�5�0�0��� ���-��4!
��$�.�
%�1�5010��� �1���� ��$������� -���� ���0$�1� �����$�0���
���� 0�$������� �)��� �$�0�0�"� ���� <��f�� 7f� !
5ff=!
��������$�0�0�0���� 04����0�5�$�5�0�0������-��4��$��
���6�11.�
����������$�420���0��������4�����$��$�1�%��$�0������
��%������)����$�0�0�"��6�01���������0�0����--�$�����
<��

f
�� 7

f
=!������� �$�0�0�".� ��� ���� $���� �-�


5ff�������%����4���������$�����$�0�0�".�������!
�0��0$�11"� �05�0-0$���� �0--����$�� 6��� �2������� 0�� ����
$�5�0�0������-��4��$�.�

�
��+����)�%�

�.� )���"!� /1��4� 3.�� ������ �.�� ���$�� 3.,� �� �����40W��� ��0�1�
���1���0�5� ���� �--0$�$"� ���� ��-��"� �-� ���� :�(� <�0����0540���
��������=�� �� ��6� �$��"1)��� 0��020����� 0�� ���0����� 60��� 401�� ���
4�������1"� ������� �1W��04��j�� �0�����.� ���`� t`� &��
���̀� ���J
��
S������
	̀�Q,�&&!�&�<�  '=�

�.�/������ �.�.,� ��� �������5������0��� �0��������4���1��� ����

�����4����������50��,� 1������� 1����������� 1�������-��5��������
5������0��� -�11�60�5� ���� $��10���50$� �"������0�.��YS̀� #�R�
	̀�
Q-X,�8 &!&� �<����=�
(.�7��11� 3.,� <!=
�����"1� <��1�5010��=,� ������ ��������� ����-�����.�
#�R�
�

	
���k,��: !�  �<����=�

8.� 
�5"��� 7.�� *�2��1�� 
.,� ����������$�0��� ���� �������1�
���$����--�$����-���1�5010��.�#�R�
�

	
���h,��:&!� ��<�   =�

&.��0$$0��.��
��$0�0��
.��%���$$�0��.��/��5���0�%.��/���W���0��.,�

�-0$0��� 0�� $��10���50$� �W0�0�0�4� <�+�8�=� 0�� ���� �0���$�4���,�
����0�0�0�"���������4����60�������4����40����;0����!/�0��020����
	!������"1.�(�R����YS̀��	
�̀����̀�Qk,���(!�:��<�  �=�

�.�)���5���50���*.��Y�������.�����90�0��%.,�%�1�5010���1��5!���4�
�--�$��� ��� 2��0�� �$��"1$��10����������� <��

f
�7

f
=!�������

�$�0�0�0�������0�;0����������������1����0�5����-��4��$���-��5���
����.��������
	̀����̀��k,��8&!�&��<���(=�

:.� ���90�0�� %.�� ��5�1�50���0� �.�� %$��1�0�� 7.*.�� /����90�� �.,�
�����$�0��� �--�$�� �-� 	!$"���0��� ���� 51�����0���� ��� ���� 2��0��



XQk���������� ��!��"�#��$"���$�%$��"�&'�$�#(���$�%$��)�#�*���+��#*��#$*��#$"��(�*��#����,��-�

�

<��
f
�7

f
=!������� 0��020�0��� 0���$��� 2"� -���� ���0$�1�.� ò �
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